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INVERSE TRIGONOMETRY FUNCTIONS

Exercise

1. Evaluate .

Watch Video Solution

cos − 1( ) + 2sin− 1( )
1

2

1

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5TqjWeAu349p
https://dl.doubtnut.com/l/_afOAx25iO0K7


2. Find the value of .

Watch Video Solution

tan− 1√3 − sec− 1( − 2)

3. Write the value of .

Watch Video Solution

tan(2tan− 1 )
1

3

4. Evaluate : 

Watch Video Solution

sin− 1(sin(3 ))
π

5

https://dl.doubtnut.com/l/_afOAx25iO0K7
https://dl.doubtnut.com/l/_ByswopGzRfJz
https://dl.doubtnut.com/l/_28lUWIeSGFpa


5. Fill in the blanks choosing correct answer from

the brackets. 

The value of  is …. . 


Watch Video Solution

tan− 1(2cos )
π

3

(1, , )
π

4

π

3

6. Fill in the blanks choosing correct answer from

the brackets. 

The principal value of  is …. . 

Watch Video Solution

sin_ 1(sin )
2π

3

( , , )
2π

3

π

3
4π

3

https://dl.doubtnut.com/l/_JX5abJ2dnkZ3
https://dl.doubtnut.com/l/_JH2LJBvm32dA


7. Fill in the blank choosing correct answer from the

brackets The value of

.


Watch Video Solution

sin(tan− 1
x + , x > 0_ __

tan− 1 1

x

(0, 1, )
1

2

8.  = __.

Watch Video Solution

2 sin− 1( ) + sin− 1( )
4
5

24
25

9. Evaluate : .tan− 1 1 = (2 cos( ))
π

3

https://dl.doubtnut.com/l/_FsI7ElUusgNS
https://dl.doubtnut.com/l/_NSgJDmqPzZik
https://dl.doubtnut.com/l/_wsPCpllz9z8E


Watch Video Solution

10. If .

Watch Video Solution

sin− 1( ) + cos ec
− 1( ) =

π

5

5

4

5

2

11. Find two branches other than the principal value

branch of .

Watch Video Solution

tan− 1
x

https://dl.doubtnut.com/l/_wsPCpllz9z8E
https://dl.doubtnut.com/l/_z9jXlGFIb55u
https://dl.doubtnut.com/l/_Mq4kaQZT7qPp


12. Evaluate :

.

Watch Video Solution

tan− 1( ) + cot − 1( ) + tan− 1(sin( − ))
−1

√3

1

√3

π

2

13. Evaluate .

Watch Video Solution

sin− 1(cos( ))
33π

5

14. Express the value of the following in simplest

form. 

https://dl.doubtnut.com/l/_7w59R7VJATxh
https://dl.doubtnut.com/l/_R3RdPuPrvaYP
https://dl.doubtnut.com/l/_LfPQF2ozswLo


Watch Video Solution

tan( + 2cot − 13)
π

4

15. Express the value of the following in simplest

form. 

Watch Video Solution

sin(  cos − 1(tan  (sec− 1(√2)))

16. 

.

tan{( )sin− 1( ) + cos − 1( )}
1
2

2x

1 + x2

1
2

1 − y2

1 + y2

https://dl.doubtnut.com/l/_LfPQF2ozswLo
https://dl.doubtnut.com/l/_P8mayYxJwyMT
https://dl.doubtnut.com/l/_SAR1TIVTjWfK


Watch Video Solution

17. Solve .

Watch Video Solution

cos(2 sin− 1
x) =

1

9

https://dl.doubtnut.com/l/_SAR1TIVTjWfK
https://dl.doubtnut.com/l/_4Q3kSl94SRZ7

